.. Numbers used in Sanskrit ..

.
.
.

Numerals, Cardinal numbers AT aT=ST:

YT (shuunya) = number 0, zero

T#h (eka) = number 1, one

IF (aneka) = many

T&: (ekaH) = (m) number 1, one

THT (ekaa) = (f) number 1, one

T# (ekaM) = (n) number 1, one

f& (dvi) = (m) number 2, two

ar (dvau) = (f) number 2, two

E (dve) = (n) number 2, two

5 (tri) = number 3, three (See notes in the end)
IT: (trayaH) = (m) number 3, three

faa: (tisraH) = (f) number 3, three

FITOr (4riiNi) = (n) number 3, three

g ¥ (chatur.h) = number 4, four

Hd1L: (chatvaaraH) = (m) number 4, four

dd9d: (chatasraH) = (f) number 4, four

J@T T (chatvaari) = (n) number 4, four

959 (paJNchan.h) = number 5, five

959 (paJNcha) = number 5, five

YY (shhashh.h) = number 6, six (See notes in the end)
YZ (shhaT.h) = number 6, six

Y¥ (shhaD.h)

Y[ (shhaN.h)
H<q (saptan.h) = number 7, seven

= number 6, six

= number 6, six

< (sapta) = number 7, seven
IEA (ashhTan.h) = number 8, eight
AT (ashhTa) = number 8, eight

S ra (ashhTau) = number 8, eight
99 (navan.h) = number 9, nine

99 (nava) = number 9, nine



QI (dashan.h) = number 10, ten

T (dasha) = number 10, ten

TR (ekaadashan.h) = number 11, eleven

THTSIA (ekaadasha) = number 11, eleven

SIS (dvaadashan.h) = number 12, twelve

glaq (dvaadasha) = number 12, twelve

W_{ (trayodashan.h) = number 13, thirteen

T (trayodasha) = number 13, thirteen

W (chaturdashan.h) = number 14, fourteen

a’@’é'-?l' (chaturdasha) = number 14, fourteen

To=<I (paJNchadashan.h) = number 15, fifteen

A< d (paJNchadasha) = number 15, fifteen

‘ﬁ?a'?l_{ (shhoDashan.h) = number 16, sixteen

YISW (shhoDasha) = number 16, sixteen

< (saptadashan.h) = number 17, seventeen

I, (saptadasha) = number 17, seventeen

HETSA (ashhTaadashan.h) = number 18, eighteen

TSI (ashhTaadasha) = number 18, eighteen

9IS (navadashan.h) = number 19, nineteen

d9<W (navadasha) = number 19, nineteen

Qﬁ?‘ﬁ'—‘ﬂ'ﬁl‘ (ekonavi.nshati) = number 19, nineteen, twenty minus one (See notes)
FAfquta (uunavi.nshati) = number 19, nineteen, twenty minus one
Wﬂﬁ'_ﬂﬁ' (ekaannavi.nshati) = number 19, nineteen, twenty minus one
fawrfa (vi.nshati) = number 20, twenty

mﬁ' (ekavi.nshati) = number 21, twenty-one

g ®fa (dvaavinshati) = number 22, twenty-two

ERNERIE (trayovi.nshati) = number 23, twenty-three

a—gﬁ‘wﬁr (chaturvi.nshati) = number 24, twenty-four

TSaWia (paJNchavi.nshati) = number 25, twenty-five

YEiG®fa (shhaD.hvi.nshati) = number 26, twenty-six

A CRN (saptavi.nshati) = number 27, twenty-seven

EEACRIS (ashhTaavi.nshati) = number 28, twenty-eight

Fafqrta (navavi.nshati) = number 29, twenty-nine

@?‘Fﬁ'ﬂﬂ: (ekonatri.nshat.h) = number 29, twenty-nine, thirty minus one
Wﬁ?l’ﬂ: (uunatri.nshat.h) = number 29, twenty-nine, thirty minus one
mﬁm (ekaannatri.nshat.h) = number 29, twenty-nine, thirty minus one



ﬁm (tri.nshat.h) = number 30, thirty

@ﬁjl—f[ (ekatri.nshat.h) = number 31, thirty-one
m (dvaatri.nshat.h) = number 32, thirty-two
W'F{ZWIT'[ (tryastri.nshat.h) = number 33, thirty-three
Wﬁ: (chatustri.nshat.h) = number 34, thirty-four
TS 9a (paJNchatri.nshat.h) = number 35, thirty-five
W (shhaD.htri.nshat.h) = number 36, thirty-six
m (saptatri.nshat.h) = number 37, thirty-seven
CENERGE

[ (ashhTaatri.nshat.h) = number 38, thirty-eight

]

(navatri.nshat.h) = number 39, thirty-nine

RENE R ISC] fom d_ (ekonachatvaari.nshat.h) = number 39, thirty-nine, forty minus one

i

(uunachatvaari.nshat.h) = number 39, thirty-nine, forty minus one

|

(ekaannachatvaari.nshat.h) = number 39, thirty-nine, forty minus one

;

(chatvaari.nshat.h) = number 40, forty

[ (ekachatvaari.nshat.h) = number 41, forty-one
g (dvichatvaari.nshat.h) = number 42, forty-two

g (dvaachatvaari.nshat.h) = number 42, forty-two
g (trichatvaari.nshat.h) = number 43, forty-three

.

(tryashchatvaari.nshat.h) = number 43, forty-three

i

(chatushchatvaari.nshat.h) = number 44, forty-four

TSI d_ (paJNchachatvaarinshat.h) = number 45, forty-five
mﬁm (shhaT.hchatvaari.nshat.h) = number 46, forty-six

<

SRS TG IRRY d (saptachatvaari.nshat.h) = number 47, forty-seven
mﬁ'l'ﬁ'-?l_d: (ashhTachatvaari.nshat.h) = number 48, forty-eight
W?m (ashhTaachatvaari.nshat.h) = number 48, forty-eight

(navachatvaari.nshat.h) = number 49, forty-nine

§~

THITIATAC (ekonapaJNchaashat.h) = number 49, forty-nine, fifty minus one
FHIATAC (vunapaJNchaashat.h) = number 49, forty-nine, fifty minus one
THTAIATA (ekaannapaJNchaashat.h) = number 49, forty-nine, fifty minus one
9T q (paJNchaashat.h) = number 50, fifty
THIFATAT (ekapaJNchaashat.h) = number 51, fifty-one
(dvipaJNchaashat.h) = number 52, fifty-two

[ (dvaapaJNchaashat.h) = number 52, fifty-two
%WWWI_C[ (tripaJNchaashat.h) = number 53, fifty-three
T AT (trayaHpaJNchaashat.h) = number 53, fifty-three
QAT (chatuHpaJNchaashat.h) = number 54, fifty-four




T ATAd. (paJNchapaJNchaashat.h) = number 55, fifty-five
YS9oATHd (shhaD.hpaJNchaashat.h) = number 56, fifty-six
AT d (saptapaJNchaashat.h) = number 57, fifty-seven
HETATAC (ashhTapaJNchaashat.h) = number 58, fifty-eight
ETITA (ashhTaapaJNchaashat.h) = number 58, fifty-eight
TI9ATAC. (navapaJNchaashat.h) = number 59, fifty-nine

m (ekonashhashhTi) = number 59, fifty-nine, sixty minus one
FAVE (uunashhashhTi) = number 59, fifty-nine, sixty minus one
m (ekaannashhashhTi) = number 59, fifty-nine, sixty minus one
Y (shhashhTiH) = number 60, sixty

ST (shhashhTi) = number 60, sixty

WN'FE‘ (ekashhashhTi) = number 61, sixty-one

fgfe (dvishhashhTi) = number 62, sixty-two

&IV (dvaashhashhTi) = number 62, sixty-two

f¥fe (trishhashhTi) = number 63, sixty-three

ERR TN (trayaHshhashhTi) = number 63, sixty-three

ﬂ@:‘q'f\?: (chatuHshhashhTi) = number 64, sixty-four

TS9Y(® (paJNchashhashhTi) = number 65, sixty-five

YSY® (shhaD.hshhashhTi) = number 66, sixty-six

qave (saptashhashhTi) = number 67, sixty-seven

ATYTE (ashhTashhashhTi) = number 68, sixty-eight

ATV (ashhTaashhashhTi) = number 68, sixty-eight

qavfe (navashhashhTi) = number 69, sixty-nine

Wﬂ"ﬁﬁr (ekonasaptati) = number 69, sixty-nine, seventy minus one
FAaAT (uunasaptati) = number 69, seventy, seventy minus one
m (ekaannasaptati) = number 69, seventy-one, seventy minus one
gfa: (saptatiH) = number 70, seventy

qafa (saptati) = number 70, seventy

W‘?ﬂ:&f (ekasaptati) = number 71, seventy-one
ﬁﬂ"ﬁﬁf (dvisaptati) = number 72, seventy-two
QTI'H"?I'Fd' (dvaasaptati) = number 72, seventy-two
=i (tryaHsaptati) = number 73, seventy-three
Frawfa (trisaptati) = number 73, seventy-three
ﬂ@:‘&"ﬁ'ﬁf (chatuHsaptati) = number 74, seventy-four
TSE9id (paJNchasaptati) = number 75, seventy-five
YO (shhaD.hsaptati) = number 76, seventy-six

<



gaaard (saptasaptati) = number 77, seventy-seven

JTEATT (ashhTasaptati) = number 78, seventy-eight

FETEATT (ashhTaasaptati) = number 78, seventy-eight

TJeaafa (navasaptati) = number 79, seventy-nine

@Fﬂ?ﬁﬁf (ekonaashiiti) = number 79, seventy-nine, eighty minus one
FATH T (uunaashiiti) = number 79, seventy-nine, eighty minus one
WW"%I‘ (ekaannaashiiti) = number 79, seventy-nine, eighty minus one
e (ashiitiH) = number 80, eighty-eight

TWITT (ashiiti) = number 80, eighty-eight

W?ﬁﬁf (ekaashiiti) = number 81, eighty-one

gATT (dvyashiiti) = number 82, eighty-two

ot (tryashiiti) = number 83, eighty-three

Wﬁ' (chaturashiiti) = number 84, eighty-four

TSETHHA (paJNchaashiiti) = number 85, eighty-five

YSHAWITT (shhaD.hashiiti) = number 86, eighty-six

qTIa (saptaashiiti) = number 87, eighty-seven

ST (ashhTaashiiti) = number 88, eighty-eight

FATHTT (navaashiiti) = number 89, eighty-nine

@_"l_"ﬁﬁ' (ekonanavati) = number 89, eighty-nine, ninety minus one
FAaara (uunanavati) = number 89, eighty-nine, ninety minus one
QWIW'&F (ekaannanavati) = number 89, eighty-nine, ninety minus one
qafa: (navatiH) = number 90, ninety

qafd (navati) = number 90, ninety

W_cl‘l:d' (ekanavati) = number 91, ninety-one

fg=afa (dvinavati) = number 92, ninety-two

&4l (dvaanavati) = number 92, ninety-two

forrafa (trinavati) = number 93, ninety-three

ERIECIN (trayonavati) = number 93, ninety-three

Iq-ara (chaturnavati) = number 94, ninety-four

EEECCIE (paJNchanavati) = number 95, ninety-five

YS-4fd (shhaD.hnavati) = number 96, ninety-six

A E (saptanavati) = number 97, ninety-seven

FEAafa (ashhTanavati) = number 98, ninety-eight

AETHE(d (ashhTaanavati) = number 98, ninety-eight

qa-ata (navanavati) = number 99, ninety-nine

@"T-'{l'ﬂ' (ekonashata) = number 99, ninety-nine, hundred minus one



FHAA (uunashata) = number 99, ninety-nine, hundred minus one
THRTAANA  (ekaannashata) = number 99, ninety-nine, hundred minus one
IAH (shatam.h) = number 100, one hundred

QW'FQ?’TQ'IT‘I‘ (ekaadhikashata) = number 101, one hundred-one
g®Wa (dvyadhikashata) = number 102, one hundred-two
YHWT (tryadhikashata) = number 103, one hundred-three
89 H (sahasram.h) = number 1,000, one thousand

TIE8eF (dashasahasra) = number 10,000, ten thousand

YT (ayuta) = number 10,000, ten thousand

oT&TH  (laksham.h) = number 100,000, one hundred thousand

ﬁ'g'ar (niyuta) = number 1,000,000 million

JYd (prayuta) = number 1,000,000 million

Ffe: (koTiH) = number 10,000,000 ten million

;G (arbuda) = number 100,000,000 one hundred million

3;SS (abja) = number 1,000,000,000,billion

qq (kharva) = number 10,000,000,000,ten billion

e (nikharva) = number 100,000,000,000,hundred billion
HBI99T (mahaapadma) = number 1,000,000,000,000 trillion

31@ (sha.nku) = number 10,000,000,000,000 ten trillion

AT (jaladhi) = number 100,000,000,000,000 one hundred trillion
AT (antya) = number 1000,000,000,000,000 quadrillion

T (madhya) = number 10,000,000,000,000,000 ten quadrillion
qETY (paraardha) = number 100,000,000,000,000,000 one hundred quadrillion

Ordinals S&gaTasT:

TYH: (prathamaH) = first
fgda: (dvitiiyaH) = second
AT (tRitiiyaH) = third
Iqu: (chaturthaH) = fourth
TodH: (paJNchamaH) = fifth
Y¥: (shhashhThaH) = sixth
HdH: (saptamaH) = seventh
3TEH: (ashhTamaH) = eighth
d9H: (navamaH) = nineth
TIH: (dashamaH) = tenth
THTSW: (ekaadashaH) = eleventh



glad: (dvaadashaH) = twelveth
FITET: (trayodashaH) = thirteenth
Q@Fi (chaturdashaH) = fourteenth
o<, (paJNchadashaH) = fifteenth
STEW: (shhoDashaH) = sixteenth
e q,: (saptadashaH) = seventeenth
AT (ashhTaadashaH) = eighteenth
d9<: (navadashaH) = nineteenth

UHIATGI: (ekonavi.nshaH) = nineteenth

FATGI: (uunavinshaH) = nineteenth
Q'Eh"l'ﬂﬁjl't (ekaannavi.nshaH) = nineteenth
fasr: (vinshaH) = twentieth

m: (ekavi.nshaH) = twenty-first
g9 (dvaavi.nshaH) = twenty-second
FIEI: (trayavinshaH) = twenty-third
aﬁ'ﬂ': (chaturvi.nshaH) = twenty-fourth
TS=Ta 9 (paJNchavinshaH) = twenty-fifth
YSfd9r: (shhaD.hvi.nshaH) = twenty-sixth
Tafawr: (saptavi.nshaH) = twenty-seventh
=g r: (ashhTavi.nshaH) = twenty-eigth
qaf99r: (navavi.nshaH) = twenty-ninth

U9 (ekonatri.nshaH) = twenty-ninth

FATAI: (uunatri.nshaH) = twenty-ninth
mi (ekaannatri.nshaH) = twenty-ninth
f5r: (trinshaH) = thirtieth

QWF’WFI (ekatri.nshaH) = thirty-first

fgfSwr: (dvitrinshaH) = thirty-second

{9 (tryatri.nshaH) = thirty-third

IIEAT: (chatustrinshaH) = thirty-fourth
TSS9 (paJNchatrinshaH) = thirty-fifth
YEf5r: (shhaD.htri.nshaH) = thirty-sixth
TS : (saptatrinshaH) = thirty-seventh
AEfHW: (ashhTatrinshaH) = thirty-eigth

q9T=9r: (navatrinshaH) = thirty-ninth
'{mlﬂﬂ(‘qlﬁsﬂt (ekonachatvaari.nshaH) = thirty-ninth
FAICETET: (uunachatvaari.nshaH) = thirty-ninth




'{ml?lﬂtdlr(-?l: (ekaannachatvaari.nshaH) = thirty-ninth
JedTIX: (chatvaari.nshaH) = fortieth

Wﬁ'l'ﬁ"?l‘t (ekachatvaari.nshaH) = forty-first
fgmeaTfiwr: (dvichatvaari.nshaH) = forty-second
raeaTXwr: (trichatvaari.nshaH) = forty-third
WETF{'WZ (chatushchatvaari.nshaH) = forty-fourth
TSI (paJNchachatvaari.nshaH) = forty-fifth
TSI (shhaT.hchatvaarinshaH) = forty-sixth
a=caT¥ ¥ (saptachatvaari.nshaH) = forty-seventh
ATTGTL: (ashhTachatvaari.nshaH) = forty-eigth
TSI (navachatvaarinshaH) = forty-ninth
@_’WWW: (ekonapaJNchaashaH) = forty-ninth
FIETHA: (uunapaJNchaashaH) = forty-ninth
THTATAA . (ekaannapaJNchaashaH) = forty-ninth
=T (paJNchaashaH) = fiftieth

THIATA: (ekapaJNchaashaH) = fifty-first
fgus=Ter: (dvipaJNchaashaH) = fifty-second
fros=TSr: (tripaJNchaashaH) = fifty-third
ﬂﬁmi (chaturpaJNchaashaH) = fifty-fourth
A4, (paJNchapaJNchaashaH) = fifty-fifth
YZIodT: (shhaT.hpaJNchaashaH) = fifty-sixth
HI9IdTI: (saptapaJNchaashaH) = fifty-seventh
HATIHHTHA: (ashhTapaJNchaashaH) = fifty-eigth
99T, (navapaJNchaashaH) = fifty-ninth
THIATE: (ekonashhashhTaH) = fifty-ninth

FHYE: (uunashhashhTaH) = fifty-ninth

THRTAYE . (ekaannashhashhTaH) = fifty-ninth

Y¥: (shhashhTaH) = sixtieth

UHYE: (ekashhashhTaH) = sixty-first

fg¥=: (dvishhashhTaH) = sixty-second

Y= (trishhashhTaH) = sixty-third

QY2 (chatuHshhashhTaH) = sixty-fourth
T>9YE: (paJNchashhashhTaH) = sixty-fifth

YYE: (shhashhashhTaH) = sixty-sixth

Y : (saptashhashhTaH) = sixty-seventh

HAEYT: (ashhTashhashhTaH) = sixty-eigth



d9YE: (navashhashhTaH) = sixty-ninth
@_"IWZ (ekonasaptataH) = sixty-ninth
FTHdd: (uunasaptataH) = sixty-ninth
THTATAd: (ekaannasaptataH) = sixty-ninth
qdd: (saptataH) = seventieth

THadd: (ekasaptataH) = seventy-first
fga=aa: (dvisaptataH) = seventy-second
Sra<aa: (trisaptataH) = seventy-third

I 9<dd: (chatuHsaptataH) = seventy-fourth
aEdd: (paJNchasaptataH) = seventy-fifth
YSH<d: (shhaD.hsaptataH) = seventy-sixth
Jqa«dd: (saptasaptataH) = seventy-seventh
ATHdd: (ashhTasaptataH) = seventy-eigth
d99<d: (navasaptataH) = seventy-ninth

UHIATIIT: (ckonaashiitaH) = seventy-ninth

FATIIT: (uunaashiitaH) = seventy-ninth
Wﬂ'mﬁ_cri (ekaannaashiitaH) = seventy-ninth
AN (ashiitaH) = eightieth

W’Qﬂﬂ't (ekaashiitaH) = eighty-first
fg=raia: (dviashiitaH) = eighty-second
I (tryashiitaH) = eighty-third
TN (chaturashiitaH) = eighty-fourth
TSETY: (paJNchaashiitaH) = eighty-fifth
YEWIa: (shhaDashiitaH) = eighty-sixth
AT (saptaashiitaH) = eighty-seventh
IETINT: (ashhTaashiitaH) = eighty-eigth
qGTSE: (navaashiitaH) = eighty-ninth
THHFAT: (ekonanavataH) = eighty-ninth
FHA4dd: (uunanavataH) = eighty-ninth
THRTAA9d: (ekaannanavatal) = eighty-ninth
d49d: (navataH) = ninetieth

Thadd: (ekanavataH) = ninety-first
fgaa: (dvinavataH) = ninety-second
g (trinavataH) = ninety-third
?@#ﬁ'ﬂ': (chaturnavataH) = ninety-fourth
T9-4dd: (paJNchanavataH) = ninety-fifth



YS99d: (shhaD.hnavataH) = ninety-sixth
d-dd: (saptanavataH) = ninety-seventh

HATAGd: (ashhTanavataH) = ninety-eigth

d999d: (navanavataH) = ninety-ninth

WW: (ekonashatatamaH) = ninety-ninth
AdqH: (shatatamaH) = hundredth

HeddH: (sahasratamaH) = thousandth

TAHEEFAH: (dashasahasratamaH ten) = ten thosandth

oT&dH . (lakshatamaH) = hundred thousandth

Fractions =A9r:

TITA (trayaa.nsha) = one third (?)

ﬂ‘ﬁ'ﬁ' (chaturthaa.nsha) = one fourth

YHT (pa.nchamaa.nsha) = one fifth

YT (shhashhThaa.nsha) = one sixth

IHTI (saptamaa.nsha) = one seventh

TSTHTI (ashhtamaa.nsha) = one eighth

978 (paadaM) = quarter

9T (navaa.nsha) = one ninth

TEHTHI (navamaaa.nsha) = one ninth

T (dashaa.nsha) = one tenth

THIETINT (ekaadaashaa.nsha) = one eleventh
IS (dvaadashaa.nsha) = one twelveth

Y (ardhaM) = half

‘T@TP{ (paadonam.h) = three fourth

H’W (sapaadaikam.h) = one and one fourth
HT%‘:[ (saardhaikam.h) = one and half

q'lﬁ_'lw (paadonadvayam.h) = one and three fourth
HIT<edH (sapaadadvayam.h) = two and one quarter
HTW (saardhadvayam.h) = two and half

‘:I'Iﬁ_"l_fq_‘:[ (paadonatrayam.h) = two and three fourth

Specifying years asroHT

(shhaNNavatyadhika-navashataadhika-sahasramitaM khristaabdaM) = 1996 C.E.
The words adhika and uttara are both usable.

go



One cogld also string the digits as:
r~ .o~ .
YUUrgqdhiHq [g&aTsx (shhaNNavanavaikamitaM khristaabdaM)

Remember ﬁ’lﬂi qTHar Wfa: aN kaanaaM vaamato gatiH
- numbers march to the left!

Also, there is the poetic scheme (?)
(rasagraharandhrabhuumimitaM khristaabdaM)

The scheme uses any nouns associated with well known quantities.
All synonyms are valid too! A partial list is:

o IV, &, YT (0 abhra, kha, shuunya)

{ﬁ:l', 9% (1 bhuumi, chandra)

T, 98, = (2 bhuja, paxa, netra)

97, Fﬁ?, aTﬁ_"l', U, ATHH (3 pura, loka, agni, guNa, Ashrama)
9T, HHR, T (4 veda, samudra, yuga)

gY, Yd, 19 (5 ishhu, bhuuta, vaayu)

Aqg, ¥, R (6 aN"ga, rasa, R"itu)

ﬂfﬁr, "Iﬁ’d‘, 3T (7 R’ ishhi, parvata, ashva)

99, ferrer, fa=, @1 (8 vasu, diggaja, dik, sarpa)

ug, fAfr, ¥=r (9 graha, nidhi, randhra)

NP G MK X e

Telling time

There is not much standardization here, the whole thing is new as time
was indicated by H&Y¥ prahara or gfear ghaTikaa.

So any grammatically correct usage should be OK!

THaTes (ekavaadanaM) = one o’clock

W—W (paJNchaadhika-ekavaadanaM) = five past one
W—W (dashaadhika-ekavaadanaM) = ten past one
W—Wﬁﬁ' (sapaada-ekavaadanaM) = quarter-past one
mﬂﬁ?—m (vi.nshatyadhika-ekavaadanaM) = twenty past one
W—W (saardha-ekavaadanaM) = half-past one

qTal+ —FSFIIG-'{ (paadona-dvivaadanaM) = quarter to two
TU-fgaTes (dashona-dvivaadanaM) = ten to two

o= I-[gaTe+ (paJNchona-dvivaadanaM) = five to two

fgaras (dvivaadanaM) = two o’clock

fFraTe= (trivaadanaM) = three o’clock

?



?E\ﬁ'i'a_'l" (chaturvaadanaM) = four o’clock
q594Ta+ (paJNchavaadanaM) = five o’clock

"

¥Sdled (shhaDvaadanaM) = six o’clock

<

gaared (saptavaadanaM) = seven o’clock
ATATE (ashhTavaadanaM) = eight o’clock
q991e+ (navavaadanaM) = nine o’clock

TWATe (dashavaadanaM) = ten o’clock
THIEIaTed (ekaadashavaadanaM) = eleven o’clock

"

gladldiad (dvaadashavaadanaM) = twelve o’clock

Miscellaneous

T9Yg Ush: (paJNchasu ekaH) = one out of five (not one fifth)
Ty (paJNchakaaN"gaH) = perhaps part of a quintet T H
one out of seven

one out of sixteen

Notes

'  (tri) = number 3, three (This is the dictionary form, the others

trayaH, tisraH, triiNi are the declined forms of nominative.)
YY (shhashh.h) = number 6, six (This is the basic form while

during conjuncts the forms shhaT.h, shhaD.h, shhaN.h are used.)
(ekonavi.nshati) = number 19, nineteen, twenty i

minus one (ekona, uuna, ekaanna basically mean ‘minus one.’)

Please send corrections to sanskrit@cheerful.com
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